REREFHEICRIVEBEREMEDLLER

() B A i if 5 BR Y A
IH# H HEE EEE B &
7__( HEREYREHEE | Nm/& 7,287 2,064
X\
£
1z | ERBRILYREHE | Nm/&E 160,073 78,373
B B 16,500 13,898
BEEHKE (mP/B)
& KX 20,000 16,099 | [FFRICK DR E
28 - 59 | —H#EKk0O
6.8 | E_HEkO
P 81| B—#kD
= 8.6 :
B X 8.1 | T -HkO
B 8 330 108
BR=
(ke/B)
= K 400 239
cob 40 | E—HkO
B OB 20 D | TR
RE " 8.1 | E=HkO
K (mg/L) oo
2 % - 7.9 i_ﬁbkl:l
= 17.6 | EZ#HEkO
- ang B % — —
= (kg/B) = _ _
BOD : R
% EE B — —
(mg/L) B X _ _
B 8 413 91
BR=
(kg/B)
152N N 500 139
SS 6 | B—HEKO
. 5 —HE/]
B 25
i " 6 Zm—kn
(mg/L) 10 | —HEkO
= 30
X =
arg | B B — —
(ke/BH) B X — —
n-Hex - ' B — —
=X s
(mg/L) - ) 0.5 | —HEKkO
05 | k0O




